Q1 Nyquist's Criterion
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Q2 Nyquist Pulses

Monday, September 17, 2012 4:20 PM
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Remark. We don'y wart P(F£) Yo be non-2ero outside veaIOn @®-@® becaue
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(b) ITrn this [’°'1-/ the wvelve of PLA) in venion @ Y ©.25
So, we will set tre valve in ve%ion @ +o be T-o0.25= 0.5-0.25 =0.25.
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Q3 Raised Cosine Pulse
Monday, September 17, 2012 7:51 PM

(e) ‘:
4 =41 !
2T & :
R - 2%=z03 . —> £
T 1
2&:&2:0-15
2T 2

(‘a) The vc‘,:“_é cosine fu\sc s o N/QBV.;-} fu‘SC..

Theve orse 1, t=o0
) =
pLr Qlo, £ tT, L2T I3T, ...
Heve, T=1.

HC-"CCJ P (R'P)

o
—_—T
R
\
s ot
w
¢ O
&
ot
\N
r+
\w

I~ FQI"'-CU‘OH’J P(Z) =0

() Neote that PL37) = L. Heg T=1. Hene, P(%) = i

Lé) Fvom fou\' (&), we’ve seen tvet PCH) =1 'Fov /e[-°->§,o 35]. 'Thucfofe/ E(_°-3) =1.

(e) We mojnﬂ-/ the ‘o\o)- in faw\- (o) {:ur (_\ow'.\-/

This is the vaised

L}

]

)

)

1

T N
0.356% 05 0.65

pert ot RC,
=1 7Tx .05
= plo) 2_(1*-(05( - ))
: U4 hal
£ioo (helf c/t\e) =1Q+ COS(_”-/S))
— v
* .09 = 7.-'*_/_; x0.9%3
=~

N

ECS332 2016 HW9 Page 5



AH‘unaTng\)’J o|+k003h vot vccommendd, we can Find  tre veloe of P 0.4)
Sl'mf‘/Y b/ Ploja:qb in the formula for the vaiced cosine c:)'we—\ ta lecture.

The valve of B i the cosine Par')' is 7iven ‘7’ % (1-\- cos(’%(l/l -1ﬁ >)> .

I'\ +h.s Pc“-}’ /=0-‘1)0(=0-3J and T=1.
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Q4 Raised Cosine Pulse

Monday, September 17, 2012 7:38 PM
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